
 SSC CGL Mock-8

General Intelligence
Direction for question 1 to 4 : Select the related
letters/word/number/figure from the given
alternatives.

ØeMve mebKÙee 1 mes 4 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
mebyebefOele De#ejeW/Meyo/mebKÙee/Deeke=âefle keâes ÛegefveS~
1. Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

2. DEFIANT : OBEDIENT :: DEPRAVITY : ?
DeJe%eekeâjer : Dee%eekeâejer :: og<šlee : ?
(a) GOODNESS/DeÛÚeF& (b) SADNESS/Goemeer
(c) SERIOUSNESS/iebYeerjlee
(d) OBEDIENT/Dee%eekeâejer

3. MG eg : GE nm :: ? : AL sq.
(a) qsLA (b) QSla (c) QslA (d) qSLA

4. 01 : 08 :: ? : 64
(a) 09 (b) 16 (c) 25 (d) 36

Directions for question 5 to 7 : Find the odd
letters/word/number pair from the given alternatives.

ØeMve mebKÙee 5 mes 7 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW cebs mes
efJe<eÙe De#ej/Meyo/mebKÙee Ùegice ÛegefveS~
5. (a) Guitar/efiešej (b) Veena/JeerCee

(c) Flute/yeeBmegjer (d) Sitar/efmeleej
6. (a) 17-142 (b) 71-34 (c) 41-28 (d) 14-28
7. (a) F (b) A (c) M (d) X
Direction for question 8 to 10 : A sereis is given with
one or more missing term. Choose the correct
alternative from the given ones that will complete

ØeMve mebKÙee 1 mes 3 lekeâ kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee nw
efpemeceW Skeâ Ùee Skeâ mes DeefOekeâ heo ueghle nw~ efoS ieS efJekeâuheeW ceW mes
Jen mener efJekeâuhe ÛegveW pees Deveg›eâce keâes hetje keâjs~
8. ACZXP, BDYYQ, CEXZR, DFWAS, ?, FHUCU

(a) FGVBT (b) EGUBT (c) EGVZT(d) EGVBT
9. 7, 14, 42, 168, … ?

(a) 750 (b) 780 (c) 840 (d) 850

10. b_d_ _ a _ cb _ d _ _ a _ c
(a) bdcadbca (b) acbdcadb
(c) bdaccbad (d) acbdacbd

11. If ‘POWER’ is coded as ‘KLDVI’ how can
‘FAITH’ be coded?
Ùeefo ‘POWER’ keâes ketâš Yee<ee ceW ‘KLDVI’ efueKee peelee nw lees
‘FAITH’ keâes ketâš Yee<ee ceW kewâmes efueKee peeSiee?
(a) UZRGS (b) GASGV
(c) HCRIU (d) JRMPY

12. The door of Priya’s house faces east. From the
back side of the house. She walks straight 50
meters. again. Finally, she turns to the left and
stops after walking 25 meters. Now, which
direction is Priya facing?
efØeÙee kesâ Iej keâe ojJeepee hetjye keâer Deesj nw~ Iej kesâ efheÚues Yeeie mes
Jen 50 ceeršj meerOes Ûeueleer nw, Gmekesâ yeeo oebS cegÌ[leer nw Deewj hegve:
50 ceeršj Ûeueleer nw Deble ceW, Jen yeebS cegÌ[leer nw Deewj 25 ceeršj
Ûeueves kesâ yeeo ™keâ peeleer nw~ Deye efØeÙee efkeâme efoMee keâer Deesj cegbn
keâjkesâ KeÌ[er nQ?
(a) North (b) West (c) East (d) South

13. Identify the answer figures from which given
pieces in the question figure have been cut.
Jen Gòej Deeke=âefle %eele keâerefpeS efpemeceW ØeMve Deeke=âefle ceW efoS ieS
šgkeâÌ[s keâešs ieS nQ~
Question Figure/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

14. Conponents of which of the figures will exactly
complete the question figure given below.
keâewve-meer Gòej Deeke=âefle kesâ Ieškeâ veerÛes efoS ieS ØeMve Deeke=âefle kesâ
Øeefle™he keâes hetje keâjsieW?
Question Figure/ØeMve Deeke=âefle :

Answer Figure/Gòej Deeke=âefleÙeeB :
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15. In the following words, the group of letters
should not contain more than three vowels.
Which of the following words does not follow
to the rule?
efvecveefueefKele MeyoeW ceW De#ejeW kesâ mecetn ceW leerve mes DeefOekeâ mJej veneR
nesves ÛeeefnS~ efvecveefueefKele MeyoeW ceW keâewve efveÙece kesâ Devegmeej veneR nw
(a) SCARCITY (b) PROGNOSIS
(c) COMPLEXITY (d) CONVULSION

16. A group of eight friends is sitting  in an
arrangement with one each at the corner of an
octagon. All are facing  the centre. Megha is
sitting diagonally opposite ot Radha, who is
right to Seema. Raman is next to Seema and
opposite to Govind, who is on Chandra’s left.
Shanti is not to right of Megha but opposite to
Shashi. Who is opposite to Chandra?
Dee" efce$e Skeâ De<škeâesCe kesâ keâesveeW hej Skeâ-Skeâ yew"s nQ~ meYeer
keâe cegKe keWâõ keâer Deesj nw~ cesIee,jeOee kesâ efJekeâCe&le: meccegKe yew"er nw
pees meercee keâer oeF& Deesj nw~ jceve meercee kesâ yeieue ceW Deewj ieesefJebo kesâ
meeceves yew"e nw pees Ûebõe kesâ yeeFË Deesj nw~ Meebefle cesIee keâer oeF& Deesj
veneR nw, efkebâleg MeefMe kesâ meeceves nw~ Ûebõe kesâ meeceves keâewve nw?
(a) Raman/jceve (b) Shanti/Mebeefle
(c) Radha/jeOee (d) Seema/meercee

17. Find the two signs which will make the
following equation correct if they are
interchanged.
Ssmee efJekeâuhe {tBÌ{s efpememes oes efÛeÖeW kesâ hejmhej yeoueves mes mener
meceerkeâjCe efvekeâeuee pee mekesâ~
5 6 3 12 2 17
(a)  and (b) + and × (c)  and (d)  and –

Directions for question 18 and 19 : Select the missing
number from the given responses.

ØeMve mebKÙee 18 Deewj 19 kesâ efueS efveoxMe : efoS  ieS efJekeâuheeW ceW mes
ueghle Debkeâ keâerefpeS~
18. 2  1  3

3  4  2
4  5  1
29  ?  14
(a) 30 (b) 32 (c) 42 (d) 24

19.

(a) 53 (b) 51 (c) 59 (d) 55
20. Arrange the following words as per order in

the English dictionary.
efvecveefueefKele MeyoeW keâes Deb«espeer MeyokeâesMe kesâ Devegmeej efueKes~

1. Wasp 2. Waste 3. War 4. Wrinkle
5. Wrist
(a) 3, 1, 2, 4, 5 (b) 2, 1, 3, 5, 4
(b) 5, 4, 2, 1, 3 (d) 2, 4, 3, 1, 5

21. Arrange the following words in meaningful
order.
efvecveefueefKele MeyoeW keâes meeLe&keâ ›eâce ceW ueieeFS~
1. police/hegefueme 2. Punishment/oC[
3. Crime/DehejeOe 4. Judge/vÙeeÙeeOeerMe
5. Judgement/efveCe&Ùe
(a) 4, 3, 2, 1, 5 (b) 4, 3, 1, 5, 2
(c) 3, 1, 4, 5, 2 (d) 4, 3, 2, 1, 5

22. Which of the follwoing number is opposite to
1?
efvecveefueefKele ceW mes keâewve-mee Debkeâ 1 kesâ efJehejerle nw

(a) 6 (b) 5 (c) 2 (d) 3
23. How many small cubes are there?

kegâue efkeâleves Úesšs Ieve nQ?

(a) 26 (b) 24 (c) 25 (d) 27
24. B’s father is A, C’s brother is B, D is the sister of

C, D si the daughter of E. How is A related to E?
B kesâ efhelee A nw~ C keâe YeeF& B nw~ D C,  keâer yenve nw~ D E,
keâer yesšer nw~ A keâe E mes keäÙee mebyebOe nw?
(a) Husband (b) Wife
(c) Brother (d) Sister

25. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given int he
alternatives are represented by two classes of
alphabets as in the matrix given below. The
columns and rows of Matrix-I are numbered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented frist
by its row and next by tis column, e.g., ‘P’ can
be represented by 00, 13, etc. and ‘N’ can be
represented by 57, 68, etc. Similarly, you have
to identify the set for the word ‘LIKES’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS cewefš̂keäme ceW nw~ cewefšk̂eäme-I kesâ mlecYeeW Deewj bheefkeäleÙeeW
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keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe
mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ' 'P  keâes 00,
13 Deeefo Éeje yeleeÙee pee mekeâlee nw leLee ' 'N  keâes 57, 68 Deeefo
Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo kesâ efueS
mebKÙee mecetn ‘LIKES’ keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0 P E K I Z 5 O M N S L

1 K I Z P E 6 O M L N S

2 Z P E G I 7 L S M N O

3 E K I Z P 8 S L N M O

4 I Z P E K 9 M N S L O

(a) 67, 22, 31, 58, 22 (b) 98, 03, 44, 22, 58
(c) 75, 03, 11, 22, 76 (d) 86, 40, 23, 14, 96

General Awareness
26. Narshima committee relates with-

vejefmecnve meefceefle keâe mecyevOe nw~
(a) High educational reforms/ GÛÛe efMe#ee megOeejeW mes
(b) Tax flaxation reforms/ keâj jÛevee megOeejeW mes
(c) Banking infrastructure reforms / yeQefkeâie mejbÛevee

megOeejeW mes
(d) Employment implementation reforms

27. Which area has maximum contribution in
"Gross  domestic product"in Indian Economy?
YeejleerÙe DeLe&JÙeJemLee ceW efkeâme #es$e keâe ‘mekeâue Iejsuet Glheeo’ ceW
meJee&efOekeâ Ùeesieoeve nw?
(a) Agriculture sector/ke=âef<e #es$e keâe
(b) Industrial sector / DeewÅeesefiekeâ #es$e keâe
(c) Service sector/ mesJee #es$e keâe (d) None of these

28. Area  of a kshetra panchayats are set by-
Skeâ #es$e hebÛeeÙele keâe Fueekeâe efveOee&efjle efkeâÙee peelee nw-
(a) State election commission / jepÙe ÛegveeJe DeeÙeesie Éeje
(b) State government / jepÙe mejkeâej Éeje
(c) Divisional Commissioner/ceC[ue DeeÙegòeâ Éeje
(d) District magistrate/efpeueeefOekeâejer Éeje

29. Which one of the following direction
principles of state policy added in constitution
later?
efvecveefueefKele ceW mes keâewve-mee Skeâ jepÙe keâe veerefle efveosMekeâ efmeÉevle
mebefJeOeeve ceW yeeo ceW peesÌ[e ieÙee?
(a) Organization of village panchayats/«eece hebÛeeÙeleeW keâe

mebie"ve
(b) Prohibition of cow slaughter /ieesJeOe efve<esOe
(c) Free legal advise/cegheäle keâevetveer meueen
(d) Uniform Civil code/meceeve veeieefjkeâ mebefnlee

30. Which one of the following not found in tea?
efvecveefueefKele ceW mes keâewve-mee Skeâ ÛeeÙe ceW veneR heeÙee peelee nw?
(a) Theane/ Leerve (b) Caffeine/ kewâheâerve

(c) Tenin/šsefveve (d) Morphin/ ceeheâeave
31. Which of the following country situated in

south of the artic circle?
efvecveefueefKele ceW mes keâewve-mee osMe Deeke&âefškeâ Je=òe kesâ oef#eCe ceW
efmLele nw?
(a) Finland/ eqheâveuewC[ (b) Iceland/ DeeFmeuewC[
(c) Norvey/veeJex (d) Swiden/ mJeer[ve

32. Which chemcial element is found maximum in
quantity on the earth crust?
Yethehe&šer ceW yengleeÙele mes heeÙee peeves Jeeuee jemeeÙeefvekeâ lelJe nw-
(a) Oxygen/ Deekeämeerpeve
(b) Alluminum/ SuÙegceerefveÙece
(c) Iron/ ueesne
(d) Silicon/ efmeefuekeâe@ve

33. Who was the president of the Indian National
Congress in Meerut session 1946?
YeejleerÙe je<š^erÙe keâeb«esme kesâ 1946 ceW cesj" DeefOeJesMeve keâer
DeOÙe#elee efkeâmeves keâer?
(a) J.B. Kripalani/ pes.yeer ke=âheueeveer
(b) Dr. Rajendra Prasad/ [e. jepesvõ Øemeeo
(c) Abul Kalam Azad/ Deyegue keâueece Deepeeo
(d) B.P. Sitaramaiya/yeer.heer.meerlejcewÙee

34. Who was the founder of All India Harijan
Association?
DeefKeue YeejleerÙe nefjpeve mebIe keâer mLeehevee efkeâmeves keâer Leer?
(a) Mahatma Gandhi/ cenelcee ieebOeer ves
(b) Dr. Bhimrao Ambedkar/yeer.Deej.Decyes[keâj ves
(c) Narayan Guru/veejeÙeCe ieg™ ves
(d) Vivekanand/efJeJeskeâevevo ves

35. Which institution of India developed India's
first super computer 'PARAM?
efkeâme YeejleerÙe mebmLeeve ves Yeejle kesâ ØeLece meghej keâchÙetšj ‘hejce’
keâe efJekeâeme efkeâÙee Lee?
(a) BHABHA/YeeYee ves (b) ISRO/Fmejes ves
(c) C-DAC/ meer[wkeâ ves (d) BEL/yesue ves

36. Cobalt -60 is commonly used in radiation
medical science because in radiates-
keâesyeeuš-60 Deeceleewj hej efJeefkeâjCe efÛeefkeâlmee ceW ØeÙegòeâ neslee nw,
keäÙeeWefkeâ Ùen Glmeefpe&le keâjlee nw-
(a) -Rays/Deuheâe efkeâjCesW (b) -rays/yeerše efkeâjCeW
(c) -rays/ieecee efkeâjCeW (d) -rays/Skeäme efkeâjCeW

37. Which state of India has started India's first
LNG Bus service?
Yeejle keâer henueer Sue Sve peer yeme mesJee efkeâme jepÙe ceW Meg™ keâer
ieF& nw?
(a) Tamil Nadu (b) Kerala
(c) Haryana (d) Uttar Pradesh

38. The Presidential building of Nepal is called as-
vesheeue kesâ je<šĥeefle YeJeve keâes keäÙee keânles nw-
(a) Lotus Building/keâceue YeJeve
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(b) Mansoon Building/ceevemetve YeJeve
(c) Sheetal Building/Meerleue YeJeve
(d) Brahma Building/yeÇne YeJeve

39. National Ayarveda Day is celebrated on-
je<šêrÙe DeeÙegJexo efoJeme efkeâme efleefLe keâes ceveeÙee peelee nw?
(a) 28th Oct (b) 28th Nov
(c) 28th Dec (d) 29th Jan

40. 'Barmuda triangle' is situated in-
yeejceg[e [êFSbieue efmLele nw-
(a) Pacific Ocean/ØeMeevle cenemeeiej ceW
(b) Indian Ocean/efnvo cenemeeiej ceW
(c) Arctic Ocean/Deeke&âefškeâ cenemeeiej ceW
(d) Atlantic Ocean/ Dešueebefškeâ cenemeeiej ceW

41. The book "Charaveti-Charaiveti" is written by-
‘‘ÛejwJeleer-ÛejwJesleer’’ veecekeâ hegmlekeâ efkeâmekeâer jÛevee nw?
(a) Dr. Ketan Desai/[e. kesâleve osmeeF& keâer
(b) Ram Naik/jece veeFkeâ keâer
(c) Pranav Mukherjee/ØeCeJe cegKepeea
(d) Subhash Chandra/megYee<e Ûevõ keâer

42. For how many year members of United
Nations Human Rights council are elected?
mebÙegòeâ je<š ̂ceeveJeefOekeâej heefj<eo kesâ meomÙeeW keâe ÛegveeJe efkeâleves Je<e&
kesâ efueS neslee nw?
(a) One year/ Skeâ Je<e& kesâ efueS
(b) Two year/oes Je<e& kesâ efueS
(c) Three year/leerve Je<e& kesâ efueS
(d) Four year/Ûeej Je<e& kesâ efueS

43. In which of the following country the "Bharat
Mahotsava" is celebrating from 15 Nov 2016 to
24th March 2017?
15 veJecyej 2016 mes 24 ceeÛe&, 2017 lekeâ ‘‘Yeejle ceneslmeJe’’
keâe DeeÙeespeve efvecveefueefKele ceW mes efkeâme osMe ceW efkeâÙee pee jne nw?
(a) Oman/Deesceeve
(b) Afghanistan/Deheâieeefvemleeve
(c) Tehran/lesnjeve (d) Yamen/Ùeceve

44. "Father of Modern Education in India" is
called
Yeejle ceW DeeOegefvekeâ efMe#ee kesâ pevekeâ keâewve-Les?
(a) Max Moolar/cewkeäme cetuej
(b) Charles Grant/Ûeeume& «eebš
(c) Raja Ram Mohan Rai/jepee jece ceesnve jeÙe
(d) Charles Luis/ Ûeeume& uegF&me

45. When a state has failed to comply with or to
give effect to, directions given by the union
govt, then presidencial rule can be imposed on
that state by-
peye keâesF& jepÙe, kesâvõ mejkeâej Éeje efoÙes ieÙes efveoxMeeW keâe
Devegheeueve keâjves ceW Ùee Gvekeâes ØeYeeJeer keâjves ceW Demeheâue nesleer nw lees
JeneB hej je<šĥeefle Meemeve ueieeÙee pee mekeâlee nw-

(a) Article-352 (b) Article-356
(c) Article-360 (d) Article-365

46. Gun powder is mainly mixture of-
ieve heeG[j cegKÙele: efceßeCe neslee nw-
(a) Magensium and silicon/ cewefiveefMeÙece Deewj efmeefuekeâeve keâe
(b) Magnesium, sulpher and charcoal/cewefiveefMeÙece, meuheâj

Deewj Ûeejkeâesue keâe
(c) Magnesium, salt peter and silicon/cewefiveefMeÙece, meeuš

heeršj Deewj efmeefuekeâeve keâe
(d) Sulpher, charcoal and salt peter/meuheâj, Ûeejkeâesue Deewj

meeuš heeršj keâe
47. Nucleus is not present in Red blood cells of

mammals except-
mleveer Jeie& kesâ ueeue ™efOejeCegDeeW kesâ kesâvõkeâ veneR neslee nw efmeJeeÙe-
(a) Camels (b) Lama
(c) A and B both (d) None

48. Which mosquito is carrier of Kala Azar?
keâeuee peej veecekeâ jesie keâe Jeenkeâ keâewve-mee ceÛÚj nw?
(a) Tse-Tse Fly/ meer-meer cekeäKeer
(b) Sand Fly/syeeuet cekeäKeer
(c) Female Anopheles/ceeoe Sveeheäueerpe
(d) Female Culex/ ceeoe keäÙetueskeäme

49. The word "Scoop" is related to the game-
Meyo ‘‘mketâhe’’ efkeâme Kesue mes mecyebefOele nw?
(a) Football/ Heâgšyeeue mes (b) Balleyball/yeeueeryeeue mes
(c) Hockey /ne@keâer mes (d) Badminton/yew[efcebšve mes

50. The Machina Biological Park is located in
which state?
ceefÛeÙee pewefJekeâ heeke&â efkeâme jepÙe ceW efmLele nw?
(a) Rajasthan/ jepemLeeve (b) Sikkim/efmeefkeäkeâce
(c) Nagaland/veeieeuewC[ (d) Manipur/ceefCehegj

Maths
51. What is 5 10

5 5 2 20 32 50
 equal to?

5 10
5 5 2 20 32 50

 efkeâmekesâ yejeyej nw?

(a) 5 (b) 5 5 (c) 5 2 (d) 5
52. A number of persons raised Rs 1600/- for a

family relief fund, each person giving as many
25 paise coins as there were men. The number
of men were-
kegâÚ JÙeefòeâÙeeW ves efkeâmeer jenlekeâes<e kesâ efueS ™ 1600 pecee efkeâÙes~
ØelÙeskeâ JÙeefòeâ Gleves ner 25 hewmes kesâ efmekeäkesâ oslee nw, efpeleves efkeâ JeneB
JÙeefòeâ GheefmLele nw~ JÙeefòeâÙeeW keâer mebKÙee %eele keâjes~
(a) 16 (b) 40 (c) 80 (d) 400

53. The efficiency of A is twice that of B, where as
the efficiency of A andB together is three times
of C. If A, B and C work together on a job, in
what ratio should they share their earnings?
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A B,  keâer Dehes#ee oesiegveer #ecelee mes keâece keâjlee nw peyeefkeâ A Deewj
B efceuekeâj keâjs lees Jes Deheveer DeeÙe keâes efkeâme Devegheele yeeBšWies?
(a) 4 : 2 : 1 (b) 4 : 3 : 2
(c) 4 : 2 : 3 (d) 2 : 1 : 1

54. Two circles with centres P and Q of radii 5 cm
and 3 cm respectively touch each other
internally. If the prependicular bisector of PQ
meets the larger circle in A and B, then the
value of AB is-
5 mesceer. Deewj 3 mesceer ef$epÙee Jeeues leLee P Q,  kesâvõ Jeeues oes Je=òe
Skeâ otmejs keâes Deebleefjkeâ ™he mes mheMe& keâjles nQ~ PQ keâe
uecye-meceefÉYeepekeâ yeÌ[s Je=òe keâes efyevog A leLee B hej efceuelee nw,
leye AB nw-
(a) 4 6 cm (b) 2 6 cm
(c) 6 cm (d) 3 6 cm

55. The value of 4
2 1 6 3

3a a
a a( )( )

, when a 9999 is

4
2 1 6 3

3a a
a a( )( )

 keâe ceeve nw, peye a 9999 nw-

(a) 6666 (b) 3333 (c) 1111 (d) 2222
56. Anil, Brijesh and Deep hired a pasture. Anil

grazed 12 cows, 2 hours every day for 4
months. Brijesh grazed 16 cows, 4 hours every
day for 6 months and Deep grazed 6 cows 9
hours everyday for 2 months. If Brijesh has
paid Rs 1152 as a share of fare, find the amount
of total rent.
Deefveue, efyeÇpesMe leLee oerhe ves Skeâ Ûeejeieen efkeâjeÙes hej efueÙee~
Deefveue ves 12 ieeÙeW Øeefleefove 2 Iebšs keâer oj mes 4 ceen lekeâ ÛejeF&~
efyeÇpesMe ves 16 ieeÙeW Øeefleefove 4 Iebšs keâer oj mes 6 ceen lekeâ ÛejeF&
leLee oerhe ves 6 ieeÙes 9 Iebšs Øeefleefove keâer oj mes 2 ceen lekeâ ÛejeF&~
Ùeefo efyeÇpesMe ves Deheves efnmmes kesâ ™he ceW ™ 1152 efkeâjeÙee efoÙee, lees
%eele keâerefpeS efkeâ efkeâjeÙes keâer kegâue jeefMe keäÙee nw?
(a) Rs 1102 (b) Rs. 1413 (c) Rs. 1764(d) Rs. 1214

57. A metallic hemisphere is melted and recast in
the shape of cone with the same base radius
(R) as that of the hemisphere. IfH  is the height
of cone then-
Skeâ DeOe& ieesues keâes efheIeueeÙee ieÙee leLee Mebkegâ kesâ Deekeâej ces hegve:
efveefce&le efkeâÙee ieÙee, efpemekeâer ef$epÙee R DeOe& ieesues keâer ef$epÙee kesâ
yejeyej nw~ Ùeefo H Mebkegâ keâer TBÛeeF& nes, leye-
(a) H R

2
3

(b) H R3

(c) H R2 (d) H R3
58. If  is positive acute angle and cot . cot2 3 1,

then the value of 2 5
2

12sin  is-

Ùeefo  Skeâ Oeveelcekeâ vÙetvekeâesCe nes, Deewj cot . cot2 3 1.
nw, lees 2 5

2
12sin keâe ceeve keäÙee nseiee?

(a) 1 (b) 4 (c) 2 (d) 0

59. Apples are bought at 7 for Rs. 4. At what rate
per hundred must they be sold to gain 47%?
™ 4 kesâ 7 mesye keâer oj mes mesye Kejeros ieÙes~ 47% ueeYe keâceeves kesâ
efue Øeefle mewkeâÌ[e Gvns efkeâme oj mes yesÛevee heÌ[siee?
(a) Rs 80 (b) Rs. 84 (c) Rs. 95 (d) Rs. 63

60. If x
y

y
z

z
x

1 1 1 , then find xyz ?

Ùeefo x
y

y
z

z
x

1 1 1  nes,lees xyz ?

(a) 1 (b) 1 (c) 1 (d)3
61.

x a y bcos , sin3 3 , then x
a

y
b

2
3

2
3 ?

Ùeefo x a y bcos , sin3 3  lees x
a

y
b

2
3

2
3 ?

(a) 0 (b) 2 (c) 1 (d) 3
62. What will be the area of the rhombus formed

by lines ax by c 0 ?
jsKeeDeeW ax by c 0 mes yeves meceÛelegYeg&pe keâe #es$eheâue %eele
keâjW~
(a) c

ab

2

2
(b) 2 2c
ab

(c) 4 2c
ab

(d) c
ab

2

4
63. ABCD is a rectangle . P & Q are two points on

AB, such that AP PQ QB: : 3 4 5: : . Find the ratio
of area PQC and Ractangle ABCD.
ABCD Skeâ DeeÙele nw~ Yegpee AB hej P Deewj Q oes efyevog Fme
Øekeâej nQ~ efkeâ AP PQ QB: : 3 4 5: :  nw~ PQC Deewj DeeÙele
ABCD kesâ #es$eheâueeW keâe Devegheele %eele keâjW~
(a) 1 : 6 (b) 3 : 1 (c) 6 : 1 (d) 1 : 3

64. The average salary, per head, of all the
workers of a company is Rs 70. The average
salary of 15 officers is Rs 300 and the average
salary per head, of the rest is Rs. 40. The total
number of workers in the company is-
efkeâmeer keâcheveer ceW ØelÙeskeâ keâce&Ûeejer keâer Deewmele DeeÙe ™ 70 nw~ 15
DeefOekeâeefjÙeeW keâer Deewmele DeeÙe ™ 300 nw~ leLee yeÛes keâce&ÛeeefjÙeeW
keâer Deewmele DeeÙe ™ 40 nw~ keâcheveer ceW kegâue keâce&ÛeeefjÙeeW keâer mebKÙee
%eele keâjW~
(a) 180 (b) 110 (c) 150 (d) 130

65. The difference between simple interest and
compound interest of a certain sum of money
at 10% per annum for 3 year is Rs 124. Then, the
sum is-
efkeâmeer efveef§ele OevejeefMe hej 10% Jeeef<e&keâ oj mes 3 Je<eeX kesâ
meeOeejCe yÙeepe leLee Ûe›eâJe=efæ yÙeepe keâe Deblej ™ 124 nw~ lees
OevejeefMe nw-
(a) Rs 6000 (b) Rs. 4000 (c) Rs.2000(d) Rs 15000

66. The population of Noida is 3,11,250. The ratio
of women to men is 43 : 40 if there are 24%
literate among women and 10% illiterate
among men, then total number of literate
persons in the Noida is-
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veesS[e keâer pevemebKÙee 3,11,250 nw~ ceefnueeDeeW leLee heg®<eeW keâe
Devegheele 43: 40 nw~ Ùeefo ceefnueeDeeW ceW 24% efMeef#ele nw leLee
heg®ÙeeeW ceW 10% efvej#ej nw, lees veesS[e ceW efMeef#eleeW keâer mebKÙee keäÙee
nw?
(a) 1,73,200 (b) 1,70,000
(c) 1,73,700 (d) 1,75,700

67. The greatest 5-digit numbers exactly divisible
by 15,20,25 is -
5-Debkeâes keâer DeefOekeâlece mebKÙee pees 15,20,25 mes hetCe&le:
efJeYeeefpele nw-
(a) 98900 (b) 99900 (c) 99600 (d) 99750

68. A tank is filled by three pipes with uniform
flow. The first two pipes operating
simultenously fill the tank in the same time
during which the tank is filled by the third
pipe alone. The second pipe fill the tank 5
hours faster than the first and 4 hours slower
than the third pipe. The time required by the
first pipe is-
leerve heeFhe Skeâ šbkeâer keâes Skeâ meceeve ØeJeen mes Yejles nQ~ ØeLece oes
heeFheeW keâes Skeâ meeLe Keesuee peelee nw~ Fme oes heeFheeW Éeje efueÙee
ieÙee meceÙe leermejs heeFhe Éeje efueÙes ieS meceÙe kesâ yejeyej nw~ otmeje
heeFhe, henues heeFhe mes 5 Iebšs lespe leLee leermejs heeFhe mes 4 Iebšs Oeercee
Yejlee nw, lees henues heeFhe Éeje efueÙee ieÙee meceÙe nw-
(a) 6 hours (b) 15 hours (c) 10 hours(d) 8 hours

69. A man covered a certain distance at some
speed. Had he moved 3 kmph faster, he would
have taken 40 minutes less. If he had moved 2
kmph slower, he would have takne 40 minutes
more. The distance (in km) is-
keâesF& JÙeefòeâ efkeâmeer efveef§ele otjer keâer efkeâceer Ûeeue mes leÙe keâjlee nw~
Ùeefo Jen Deheveer Ûeeue 3 efkeâceer/Iebšs yeÌ{e ueslee lees 40 efceveš keâce
meceÙe ueielee ~ Ùeefo 2 efkeâceer/Iebšs Ûeeue Ieše ueslee lees 40 efceveš
pÙeeoe meceÙe uesleer ~ lees otjer (efkeâceer. ceW) nw-
(a) 40 (b) 36 2

3
(c) 35 (d) 37 1

2
70. A balloon leaves the earth at a point A and

rises vertically at uniform speed. At the end of
2 minutes, John finds the angular elevation of
the balloon as 60  . If the point at which John is
standing is 150 m away from point A, what is
the speed of the balloon?
Skeâ iegyyeeje Oejeleue kesâ efyevog A mes ÚesÌ[e peelee nw~ Deewj Jen
efveef§ele Ûeeue mes Thej G"lee nw~ 2 efceveš kesâ yeeo pee@ve efyevog A mes
iegyyeejs keâe GVeÙeve keâesCe 60   heelee nw~ Ùeefo efyevog A mes pee@ve kesâ
KeÌ[s nesves kesâ mLeeve keâer otjer 150 ceer nw lees iegyyeejs keâer Ûeeue keäÙee
nw?
(a)  3.28 m/sec (b) 0.63 m/sec
(c) 0.72 m/sec (d) 2.16 m/sec

71. If the angles of a triangle are in the ratio 4 : 1 :
1. Then, the ratio of the largest side to the
perimeter is-

Ùeefo Skeâ ef$eYegpe kesâ keâesCe 4 : 1: 1 kesâ Devegheele ceW nes, leye meyemes
yeÌ[er Yegpee keâe ef$eYegpe kesâ heefjceehe mes Devegheele nw-
(a) 2

3
(b) 1

2 3

(c) 3
2 3

(d) 2
1 3

72. A motor boat can travel at 10 km/h in still
water. It travelled 91 km downstream in a
river and then returned, taking all together 20
hours. Find the rate of flow of river.
Skeâ ceesšjJeesš "snjs heeveer ceW 10 efkeâceer/Iebše keâer Ûeeue mes Ùee$ee
keâj mekeâleer nw~ Jen Skeâ veoer ceW DevegØeJeen kesâ meeLe 91 efkeâceer. keâer
Ùee$ee keâjleer nw~ Deewj Jeeheme ueewšleer nw~ hetjer Ùee$ee ceW Gmes 20 Iebšs
ueieles nw~ veoer kesâ ØeJeen keâer oj keäÙee nesieer?
(a)  3 km/hr (b) 4 km/hr
(c) 6 km/hr (d) 5 km/hr
Directions for questions 23 to 25 : Study the
following graph and answer the questions
given below it.
ØeMve mebKÙee 23 mes 25 kesâ efueS efveoxMe : veerÛes efoS «eeheâ keâes heÌ{s
Deewj veerÛes efoS ieS ØeMveeW kesâ Gòej oW~

Debts of a developing Country in Different Years.
efJeefYevve Je<eeX ceW Skeâ efJekeâemeMeerue osMe keâe keâpe&

73. Approximately by what percent did the total
debt in two consecutive years of 2014 and 2015
increase over the total debt in the first two
consecutive years of 2008 and 2009?
2014 SJeb 2015 kesâ oes ueieeleej Je<eeX ceW kegâue keâpe& ceW 2008 SJeb
2009 Je<eeX kesâ kegâue keâpe& keâer leguevee ceW efkeâleves ØeefleMele Je=efæ ngF&?
(a) 66% (b) 75%
(c) 86% (d) 52%

74. By how much is the average debt of the last
five years(2011 to 2015) more than the average
debt of the first three years (2008 to 2010)?
Deefvlece heebÛe Je<eeX (2011 mes 2015) ceW Deewmele keâpe& henues leerve
Je<eeX (2008 mes 2010) kesâ Deewmele keâpe&  mes efkeâlevee DeefOekeâ nw?
(a) 1220.8 (b) 443.8
(c) 334.8 (d) 886
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75. In how many years was the debt less than the
average debt for the given 8 years period?
oer ieF& 8 Je<e& keâer DeJeefOe kesâ oewjeve efkeâleves Je<eeX ceW keâpe& Deewmele
keâpe& keâer leguevee ceW keâce Lee?
(a) one (b) three (c) Four (d) two

English Comprehension &
Language

Directions for question 1 to 3 : In each of the following
questions, one part of the sentence has an error and
the other parts of the sentence are correct. Find out
which part of the sentence has an error and makr that
part as your answer out of (a), (b) and (c). If a sentence
is free from error, then choose your answer as choice
(d).
76. Nothing would prevent (a)/him to speaking

(b)/out against injustice. (c)/No error (d)
77. The reason why (a)/we were late is because

(b)/there was a traffic accident. (c)/No error (d)
78. He was not able (a)/to cope up with the

(b)/pressure at home. (c)/No error (d)
Directions for questions 4 to 6 : Sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.
79. Rohan was known to be a ……… so nobody

entrusted any important work to him.
(a) worker (b) joker
(c) shocker (d) shirker

80. I think I am ……… young to get married.
(a) much (b) too (c) more (d) very

81. Would you mind ……… a cup of coffee for me?
(a) prepare (b) prepared
(c) to prepare (d) preparing

Directions for questions 7 and 8 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Expunge

(a) Delineate (b) Mark
(c) Efface (d) Revitalize

83. Prolific
(a) Sterile (b) Productive
(c) Effete (d) Volatile

Directions for questions 9 and 10 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Refute

(a) Expose (b) Rebut
(c) Impugn (d) Defend

85. Propensity
(a) Revulsion (b) Penchant
(c) Vicinity (d) Trend

Directions for questions 11 to 13 : Four alternatives
are given for the Idiom/Phrase underlined in the
sentence. Choose the alternative which best
expresses the meaning of the Idiom/Phrase.
86. The opening of a new research centre will give

a much needed shot in the arm.
(a) something that gives encouragement.
(b) something that is painful.
(c) something that needs attention.
(d) something done with a purpose.

87. Things looked black for me, but I did not
intend to throw up the cards on the account.
(a) put my whole income at stake
(b) looked out for help
(c) gave up my plan
(d) gambled all my money

88. I was in a pickle, when I missed my flight to
Canada.
(a) In a funny situation
(b) in a serious position
(c) in a sad situation
(d) in a difficult or unpleasant sitaution

Directions for question 14 to 16 : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is required, your answer is (d).
89. In won’t have a cigarette, thanks-I am trying to

reduce.
(a) cut down (b) lower down
(c) reduce down (d) No improvement

90. Out office has been decorated for the chief
minister’s visit.
(a) done for (b) done over
(c) done with (d) No improvement

91. Why did you not spoke to me earlier?
(a) were you not spoke (b) you did not speak
(c) did you not speak (d) No improvement

Directions for question 17 to 19 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.
92. Foud of finding fault.

(a) newfangled (b) Bibulous
(c) Uxorious (d) Captious

93. Hater of smoking
(a) Misocapnic (b) Misoneist
(c) Misogynist (d) Misogamist

94. Building in which aricraft is housed.
(a) Vinery (b) Hangar
(c) Barracks (d) Museum
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Direction for question 20 : Four words are given in a
question, out of which only one word is correctly
spelt. Find the correctly spelt word.
95. (a) Abductor (b) Abdacter

(c) Abducter (d) Abductar
Directions for questions 21 to 25 : In the following
passage some of the words have been left out. Read
the passage carefully and choose the correct answer
to each question out of the four alternatives and fill in
the blanks.

 Cloze Test
If we examine the opportunities for education of girls

or women in the less developed coutries we usually find a

21 picture, In some countries the ratio 22 boys to girls in
secondary schools is 23 than seven to one. In
Afghanistan, Turkey and Tunisia most sizeable towns
have sort of 24 where boys from a village may live while
they attend high school 25 there are no such facilities for
girls.
96. (a) dismal (b) hazy (c) bright (d) dull
97. (a) from (b) of (c) in (d) for
98. (a) lesser (b) smaller (c) better (d) more
99. (a) school (b) hotel (c) office (d) hostel
100.(a) moreover (b) and

(c) however (d) even

answer key 7 mock
1. (b) 2. (a)  3. (d) 4. (c) 5. (d) 6. (b) 7. (a)  8. (b) 9. (c) 10. (d)

11. (a) 12. (d) 13. (a) 14. (a)  15. (a)  16. (a)  17. (c)  18. (c)  19. (c)  20. (c)
 21. (b)  22. (b)  23. (b) 24. (b)  25. (a)  26. (b)  27. (d)  28. (a)  29. (c) 30. (a)
 31. (b) 32. (d)  33. (c)  34. (b)  35. (c)  36. (d)  37. (b)  38. (a)  39. (a) 40. (b)
 41. (c)  42. (c)  43. (b)  44. (b)  45. (b)  46. (c)  47. (d)  48. (b)  49. (c)  50. (a)

51. (b)  52. (c)  53. (a)  54. (a)  55. (b) 56. (b) 57. (c)  58. (a)  59. (a)  60. (d)
 61. (b)  62. (b) 63. (a) 64. (a)  65. (c)  66. (c)  67. (a)  68. (d)  69. (b)  70. (b)
 71. (a)  72. (d)  73. (a)  74. (a)  75. (a)  76. (c)  77. (b)  78. (c) 79. (c)  80. (c)
 81. (c)  82. (b)  83. (a)  84. (c)  85. (c)  86. (a) 87. (a) 88. (a) 89. (b)  90. (a)
 91. (b) 92. (a) 93. (d)  94. (c) 95. (a) 96. (b) 97. (c)  98. (d) 99. (d) 100. (a)
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